Commentationes Mathematicae Universitatis Carolinae

Cheng Ming Lee

On sequences of contractive-like mappings and fixed points

Commentationes Mathematicae Universitatis Carolinae, Vol. 13 (1972), No. 3, 437--444

Persistent URL: http://dml.cz/dmlcz/105432

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1972

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Commentationes Mathematicae Universitatis Carolinae 13,3 (1972)

ON SEQUENCES OF CONTRACTIVE-LIKE MAPPINGS AND FIXED POINTS C.M. LEE, Milwaukee

Let (E,d) be a complete metric space, and \mathscr{H} a positive integer. Recently, Kečkić ([2]) investigates sequences of mappings $f_n: E^{\mathscr{H}} \to E$ satisfying the contractive-like condition:

(1)
$$d(f_m(u_1, u_2, ..., u_k), f_{m+1}(u_2, u_3, ..., u_{k+1}))$$

$$\leq \sum_{i=1}^{k} q_i d(u_i, u_{i+1})$$
 for all $u_1, u_2, ..., u_{k+1} \in E$,

where $q_1, q_2, ..., q_k$ are non-negative constants with $\sum_{i=1}^{\infty} q_i < 1$. On the other hand, in unifying both Banach's contraction principle and Kannan's fixed point theorem, Reich ([4]) considers a single self-mapping f of E satisfying the condition:

(2) $d(f(x), f(y)) \leq ad(x, f(x)) + bd(y, f(y)) + cd(x, y)$ for all $x, y \in E$,

where a, k, c are non-negative constants with a+k+c < < 1. The purpose of this note is to consider a combined

AMS, Primary: 54H25

Ref. Z. 3.966.3

condition of (1) and (2), and obtain a result which contains both Kečkić's and Reich's results as particular cases. In fact, we prove

Theorem. Let (E, d) be a complete metric space, & a positive integer, f_m a mapping from E^k to E for $m = 4, 2, 3, \ldots$. Suppose that

(3)
$$d(f_m(u_1, u_2, ..., u_k), f_{m+1}(u_2, u_3, ..., u_{k+1}))$$

 $\leq \sum_{i=1}^{k} \{\alpha_i d(u_i, f_m(u_1, u_2, ..., u_k)) + \beta_i d(u'_{i+1}, f_{m+1}(u_2, u_3, ..., u_{k+1}))\}$

 $+ \gamma_i d(u_i, u_{i+1}) + \sigma_m \quad \text{for } m = 1, 2, 3, ...,$ and for $u_1, u_2, ..., u_{k+1} \in E$,

where α_i , β_i , γ_i , δ_n are non-negative constants and $\sum_{i=1}^{k} \left[(k-i+1)(\alpha_i + \beta_i) + \gamma_i \right] < 1$, $\sum_{m=1}^{+\infty} \delta_m < +\infty$.

Define $x_{m+k} = f_m(x_m, x_{m+1}, ..., x_{m+k-1})$ for m = 1, 2, 3, ...

where $x_1, x_2, ..., x_k$ are chosen arbitrarily from E . Then (i) $\{x_{n+k}\}$ converges in E ;

(ii) if $f_m(u, u, ..., u) \rightarrow f(u, u, ..., u)$ as $m \rightarrow +\infty$ for each $u \in E$, then f(u, u, ..., u) = u has x as a solution, where $x = \lim_{m \rightarrow +\infty} x_{m+m}$; if, furthermore, $\alpha_i = \alpha_{m-i+1}$, $\beta_i = \beta_{m-i+1}$ for $i = 1, 2, 3, ..., \lfloor \frac{k}{2} \rfloor$, then x is unique to satisfy f(u, u, ..., u) = u;

(iii) if f and α_i , β_i and x are as in (ii), and $f_m(y_m, y_m, \dots, y_m) = y_m \text{ for } m = 1, 2, 3, \dots \text{ , then } y_m \to x \text{ ,}$ the unique solution of $f(u, u, \dots, u) = u$.

Proof. To show that $\{x_{m+k}\}$ converges in E, it suffices to show that $\{x_{m+k}\}$ is a Cauchy sequence in E since E is complete. To this end, let $D_m = d(x_m, x_{m+1})$ for $m = 1, 2, 3, \ldots$. Then $x_m = 1, 2, 3, \ldots$, using (3) and the triangle inequality, one has

$$\begin{split} D_{m+k} & \leq \sum_{i=1}^{k} \{ \alpha_i d(x_{m+i-1}, x_{m+k}) + \beta_i d(x_{m+i}, x_{m+k+1}) + \\ & + \gamma_i d(x_{m+i-1}, x_{m+i}) \} + \sigma_m \end{split}$$

$$\leq \sum_{i=1}^{k} \{ \propto_{i} [D_{m+i-1} + D_{m+i} + \dots + D_{m+k-1}] + \beta_{i} [D_{m+i} + D_{m+i+1} + \dots + D_{m+n-1}] + \beta_{i} [D_{m+i} + D_{m+i+1}] + \beta_{i} [D_{m+i+1} + D_{m+i+1}] + \beta_{i} [D_{m+i$$

Hence by simple calculations one has

$$\sum_{m=1}^{m} D_{m+k} \leq b_{i} \sum_{i=1}^{k} D_{i} + b_{m-1}^{m} D_{m+k} + \sum_{m=1}^{m} J_{m} ,$$
 where $b = \sum_{i=1}^{k} [(k-i+1)(\alpha_{i} + \beta_{i}) + \gamma_{i}] < 1$. Therefore
$$\sum_{m=1}^{m} D_{m+k} \leq \frac{1}{1-b} [b_{i+1}^{k} D_{i} + \sum_{m=1}^{m} J_{m}] \leq \frac{1}{1-b} [b_{i+1}^{k} D_{i} + \sum_{m=1}^{+\infty} J_{m}] ,$$

of which the right hand side is independent of m. Thus, we conclude that $\sum_{m=1}^{+\infty} D_{m+2m}$ is a convergent series. Now, for m>m, $d(x_{n+2m},x_{m+2m}) \leq \sum_{i=m}^{m} D_{i+2m} \to 0$ as

 $m \rightarrow + \infty$, proving that $\{x_{n+k}\}$ is a Cauchy sequence.

To show that f(x, x, ..., x) = x, where

$$x = \lim_{m \to \infty} x_{m+k}$$
, let us denote

$$\hat{z}_{\mathbf{x}_{m+k}} = \hat{\mathbf{f}}_{m+i} (\mathbf{x}_{m+i}, \mathbf{x}_{m+i+1}, \dots, \mathbf{x}_{m+k-1}, \mathbf{x}, \mathbf{x}, \dots, \mathbf{x})$$

for m = 1, 2, 3, ..., i = 0, 1, 2, ..., & . Note that, in

particular, $x_{m+k}^0 = f_m(x_m, x_{m+1}, \dots, x_{m+k-1}) = x_{m+k}$,

 $\mathbf{x}_{m+k} = \mathbf{i}_{m+k}(\mathbf{x}, \mathbf{x}, \dots, \mathbf{x})$. Then for $m = 1, 2, 3, \dots$, we

have

(A)
$$d(x, f(x, x, ..., x))$$

 $\leq d(x, x_{m+2k}^0) + d(x_{m+2k}^0, x_{m+2k}^1) + ... + d(x_{m+2k}^{2k-1}, x_{m+2k}^{2k})$

$$+ d(f_{m+n}(x,x,...,x), f(x,x,...,x))$$

by the triangle inequality. Using (3) and then the triangle inequality, if we denote

$$\Delta^{j} = \Delta_{m}^{j} = d(x_{m+k}^{j}, x_{m+k}^{j+1})$$
 for $j = 0, 1, 2, ..., k-1$,

then we obtain

$$\Delta^{0} \leq \frac{1}{1-\beta} \left[\sum_{\ell=m}^{m+\frac{k}{2}-1} D_{\ell} + d(x, x_{m+\frac{k}{2}}) + d(x, x_{m+\frac{k}{2}-1}) + \sigma_{m} \right]$$
(B)

$$d^{\frac{1}{2}} \leq \frac{1}{1-1} \left[\sum_{k=m}^{m+2k-1} D_k + d(x, x_{m+2k}^0) + d(x, x_{m+2k-1}^0) + d_{m+\frac{1}{2}}^m \right]$$

$$+ (\Lambda^{0} + \Lambda^{1} + ... + \Lambda^{s-1})1$$

for
$$i = 1, 2, 3, ..., k-1$$
,

where
$$\beta = \sum_{i=1}^{n} \beta_i = 1$$
.

Given $\varepsilon > 0$, choose m so large that

$$\sum_{k=m}^{m+k-1} D_k < \frac{\varepsilon_4}{3}, d(f_{m+k}(x,x,...,x), f(x,x,...,x)) < \frac{\varepsilon_4}{3},$$

$$d(x,x_{m+k-1}) < \frac{\epsilon_1}{6}, \delta_m < \frac{\epsilon_1}{3}$$
 for all $m \ge m$, where

$$\varepsilon_1 = \frac{(1-\beta)^{\frac{6}{6}}\varepsilon}{A}$$
 with $A = 2 \frac{\sum_{j=0}^{6} (1 + \frac{j(j+1)}{2})}{2}$,

noting that such an m can be chosen since

$$\mathop{\textstyle \stackrel{+\infty}{\Sigma}}_{\ell=1} \mathbb{D}_{\!\ell} < +\infty \;, \; \mathbf{f}_m \to \mathbf{f} \;, \; \mathbf{x}_{m+k} \to \times \quad \text{and} \quad \mathop{\textstyle \stackrel{+\infty}{\Sigma}}_{m=1} \sigma_m^r < + \; \infty \;\;.$$

Then from (B) we have

$$\Delta^{\frac{1}{2}} < \frac{\varepsilon}{A} \left(1 + \frac{\dot{s}(\dot{\beta} + 1)}{2} \right) \left(1 - \beta \right)^{\frac{1}{2} - (\dot{\beta} + 1)} \le \frac{\varepsilon}{A} \left(1 + \frac{\dot{s}(\dot{\beta} + 1)}{2} \right)$$

for
$$j = 0, 1, 2, ..., k-1$$
,

and hence we have from (A) that

$$d(x, f(x, x, ..., x)) < \frac{\varepsilon_1}{6} + \frac{\varepsilon_1}{3} + \Delta^0 + \Delta^4 + ... + \Delta^{4k-1}$$

$$<\frac{\varepsilon_1}{2}+\frac{\varepsilon}{4}\sum_{i=0}^{4n-1}(1+\frac{\dot{s}(\dot{s}+1)}{2})=\frac{\varepsilon_1}{2}+\frac{\varepsilon}{2}<\varepsilon$$
.

As ε is arbitrary, we conclude that f(x, x, ..., x) = x. To prove the uniqueness, suppose that

$$y = f(y, y, ..., y)$$
. For convenience, let $\overline{X}_m^i =$

$$= f_{m+i}(x,x,...,x,y_a,y_a,...,y_a)$$
 for $i = 0,1,2,...,k$,

$$m = 1, 2, 3, \dots$$
, where $w_1 = w_2 = \dots = w_i = w_i$, neting

that
$$\vec{x}_{m}^{0} = f_{m}(x, x, ..., x), \ \vec{x}_{m}^{k} = f_{m+k}(y, y, ..., y)$$
.

Also, let
$$\vec{\Delta}^i = \vec{\Delta}_m^i = d(\vec{x}_m^i, \vec{x}_m^{i+1})$$
 for $i =$

$$=0,1,2,...,k-1$$
. Then by the triangle inequality,

(c)
$$d(x,y) = d(f(x,x,...,x), f(y,y,...,y))$$

 $\leq d(f(x,x,...,x), f_m(x,x,...,x)) + d(f(y,y,...,y),$

$$f_{m+\theta_0}(y,y,\dots,y)) + \overline{\Lambda}^0 + \overline{\Lambda}^1 + \overline{\Lambda}^2 + \dots + \overline{\Lambda}^{\theta_0-1}.$$

Now, by (3) and then by the triangle inequality again, we

$$\overline{\Delta}^{0} \leq \sum_{i=1}^{n} \alpha_{i} d(x, \overline{x}_{m}^{0}) + \sum_{i=1}^{n-1} \beta_{i} \left[d(x, \overline{x}_{m}^{0}) + \overline{\Delta}^{0} \right]
+ \beta_{n} \left[d(y, \overline{x}_{m}^{n}) + \overline{\Delta}^{1} + \overline{\Delta}^{2} + \dots + \overline{\Delta}^{n-1} \right] + \gamma_{n} d(x, y) + \sigma_{m} ;$$

$$+\sum_{i=1}^{k-2} \beta_{i} \left[d(x, \bar{x}_{m}^{0}) + \bar{A}^{0} + \bar{A}^{1} \right] + (\beta_{k} + \beta_{k-1}) \left[d(y, \bar{x}_{m}^{k}) + \bar{A}^{2} + \bar{A}^{3} + ... + \bar{A}^{k-1} \right] + \sum_{i=1}^{k-2} \beta_{i} \left[d(x, \bar{x}_{m}^{0}) + \bar{A}^{0} + \bar{A}^{1} \right] + (\beta_{k} + \beta_{k-1}) \left[d(y, \bar{x}_{m}^{k}) + \bar{A}^{2} + \bar{A}^{3} + ... + \bar{A}^{k-1} \right]$$

$$+ \gamma_{k-1} d(x, y) + d_{m+1}$$
;

$$\bar{A}^{k-1} = \alpha_{1} \left[d(x, \bar{x}_{m}^{0}) + \bar{A}^{0} + \bar{A}^{1} + ... + \bar{A}^{k-2} \right]
+ \sum_{i=2}^{k} \alpha_{i} \left[d(y, \bar{x}_{m}^{k}) + \bar{A}^{k-1} \right] + \sum_{i=1}^{k} \beta_{i} d(y, \bar{x}_{m}^{k})
+ \gamma_{1} d(x, y) + \sigma_{m+k-1}$$

Hence, using the condition $\alpha_i = \alpha_{k-i+1}$, $\beta_i = \beta_{k-i+1}$

for
$$i = 1, 2, ..., [\frac{k}{2}]$$
, we have

$$\overline{\Delta}^{0} + \overline{\Delta}^{1} + \dots + \overline{\Delta}^{k-1} \leq \frac{1}{1 - (t - (\alpha + \beta))} \operatorname{it} \operatorname{Id}(x, \overline{x}_{m}^{0}) + \\
+ \operatorname{d}(y, \overline{x}_{m}^{k}) \operatorname{J} + \operatorname{yd}(x, y) + \sum_{i=1}^{k} \sigma_{m+i-1}^{i} \xrightarrow{3}, \quad \text{where} \\
\alpha = \sum_{i=1}^{k} \alpha_{i}, \beta = \sum_{i=1}^{k} \beta_{i}, \gamma = \sum_{i=1}^{k} \gamma_{i} \text{ and } t = \sum_{i=1}^{k} (k - i + 1) (\alpha_{i} + \beta_{i}).$$

Hence from (C) we have

$$(1 - \frac{3}{1 - (t - (\alpha + \beta))}) d(x, y) \leq A(m),$$

where A(m) is an expression such that $A(m) \rightarrow 0$ as $m \rightarrow +\infty$.

Noting that $1-\frac{x}{1-(t-(\alpha+\beta))}>0$ by the condition that $\sum_{i=1}^{k} \left[(k-i+1)(\alpha_i+\beta_i)+\gamma_i\right]=1$, we conclude that d(x,y)=0, so that x=y, proving the uniqueness in part (ii).

With a slight modification in the proof of uniqueness, one proves easily that $d(y_m, x) \to 0$ as $m \to +\infty$, so that $y_m \to x$ as $m \to \infty$ follows.

Remarks. (I) Reich's result in [4] is obtained from our theorem (part (ii)) by taking k = 1, $f = f_m$ for m = 1, 2, 3, ...

(II) If $\alpha_i = \beta_i = 0$ for i = 1, 2, 3, ..., k, then one sees that $f_{m_i}(u, u, ..., u) \rightarrow f(u, u, ..., u)$ uniformly, so that our result (part (i) and (ii)) contains that of Kečkić's in [2].

(III) Part (iii) gives some kind of sufficient conditions for a sequence of fixed points of functions to converge to the fixed point of the convergent function. For other kinds of sufficient conditions, we refer to Bonsall [1], Nadler [3], and also Singh and Russell [5].

Acknowledgements. Thanks are due to Dr.P.R. Beesack,, Department of Mathematics, Carleton University, Ottawa, Canada, for drawing my attention to the papers [2],[4], and also giving me the idea of the problem considered in this note.

References

- [1] F.F. BONSALL: Lectures on some fixed point theorems of functional analysis, Tata Institute of Fundamental Research, Bombay(1962),p.6.
- [2] J.D. KEČKIĆ: On the convergence of certain sequences, Publ.Inst.Math., Beograd(N.S.), 9(23)(1969), 157-162.
- [3] S.B. NADLER Jr.: Sequences of contractions and fixed points, Pacific J.Math.27(1968),579-585.
- [4] S. REICH: Some remarks concerning contraction mappings, Canad.Math.Bull.14(1971),121-124.
- [5] S.P. SINGH and W. RUSSELL: A note on a sequence of contraction mappings, Canad.Math.Bull.12(1969),513-516.

University of Wisconsin-Milwaukee Milwaukee, Wisconsin, U.S.A.

(Oblatum 12.6.1972)